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CfE Higher Human Biology 

Homework 

Specific Immune System 
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4.  The pathogen for the disease tuberculosis (TB) evades the specific immune response by 

 
A surviving within phagocytes 

 

B attacking lymphocytes 
 

C attacking phagocytes 
 

D antigenic variation. 

 
5.  Failure in regulation of the immune system leading to an autoimmune disease is caused by a 

 
A  B lymphocyte immune response to self antigens.  

B T lymphocyte immune response to self antigens. 

C  B lymphocyte  immune response to foreign antigens.  

D T lymphocyte immune response to foreign antigens. 
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Section B 

 

1. 

 

 
 

2. The following diagram shows three stages in the specific immune system 
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5. 

 
 

The diagram below shows how the immune system responds to the flu virus 
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Explain why an infected person could catch the flu again the following year 


